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>
N & 0l & Av S Z M A
201789 = =3 2 3] LESH LA ~ AAMH
SRR 1
M MEH HOHAX WEHKHIT 7=
Helr AEH HFHANH A 23 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
AEA 383,485 353,485 30,000
AEH FUHIX UWERKIA 2S5 329,365 299, 365 30,000
AEXH HBMHA 25 329,365 299,365 30,000
FOIEO MEEHH A 53,464 23,464 30,000
401 Al HIZ 2018 30,000 0 30,000
01 A& HI 30,000 0 30,000
O &g 2ot/ O3 £X3AM 30,000 0 30,000
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N = 0l & At & Ml A

20178 =& 2 3 LA LAS ~ AAME

2N Qa0
M 0 FHAUX WERD 2=
el 20 HdFHANH A 23 (Sl & &)
SA-EY.B(BH) - PN - BES 0] &b 2 p/E-T HI RS2
s 577,588 560,588 17,000
eH FHIX UWERKID 2= 500,904 483,904 17,000
0 HIMHA 235 500,904 483,904 17,000
FOIEO MEEHH A 93,428 76,428 17,000
101 @14l 40,808 35,808 5,000
04 JI2ZtHZ22HEE =+ 40,808 35,808 5,000
O2sd =8 F&xd UREY 5,000 0 5,000
201 L Er2 A | 17,700 8,700 9,000
01 At 22l bl 16,100 7,100 9,000
O2=+=9 CCTV | A&l 2,000 0 2,000
O2sd =¢ 22X d FHEXHZ 7,000 0 7,000
206 = Hl 23,000 20,000 3,000
01 M= dl 23,000 20,000 3,000
O2sd FH F2xd MHE 7Y 3,000 0 3,000
ooy =el=3 oia 197,000 197,000 0
401 Al HI K 201 I 180,000 180,000 0
01 A& HI 178,058 178,058 0
O+ =& SH0tEs =2 FUHISAM 0 0 9,892 A9,892
O2s 28 HXts s28 Ex+3A
10,000, 000%98.92% 9,892 0 9,892
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=
N = 0l & At & Ml A
017HE £ 25 YBEN AAUS ~ XA
SN BES
HE: BEM HONK UEAD 25
Sl BEE BHAHA L3 (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
2HEH 505,763 475,763 30,000
2EH FUHIX UWERKID 2S5 429,919 399,919 30,000
2HEH HAIMHIA 25 429,919 399,919 30,000
HEAMHIA 2229 160,279 130,279 30,000
401 AIEHI L 2 CHYI 55,000 25,000 30,000
01 A€ HI 55,000 25,000 30,000
OZEATA F=X& 30,000 0 30,000
OZEHARA 1 £X 0 20,000 A 20,000
OZEHAIRA &H ZH(2I1¥HYE) 20,000 0 20,000
THohollgt =Ql=3 of 2 165,000 165,000 0
401 AIEBIZ 2 CHYI 150,000 150,000 0
01 A€ HI 148,380 148,380 0
O8=cd s=2&H4| 0 14,838 N 14,838
SO s2EF(RI1#HE) 15,000,000%98.92% 14,838 0 14,838
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N = 0l & At & Ml A

20178 =& 2 3 LA LAS ~ AAME

S 2Ee
Ho: AT HOKK WEYD 75

CHol A BIHAHIA L (crl ®a)

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

2z 377,315 361,415 15,900

XY HOHXX WEHD 25 317,455 301,555 15,900

AT HMEAHA 23 317,455 301,555 15,900

HEAH A 222 72,802 67,302 5,500

201 Yy g 72,302 66,802 5,500

01 AR 22lY 15,650 10, 150 5,500

OBARA H 4,000,000 *14! 4,000 0 4,000

O 5™ 1,500 0 1,500

Zoimo Ml 44,480 34,080 10,400

101 Q121 H| 27,360 18,760 8,600

04 JI2HH 22T 27,360 18,760 8,600

O & Al 52,0002 *1 % *502 2,600 0 2,600

Osta v 6,000 0 6,000

206 M 2 bl 9,800 8,000 1,800

o1 Mzl 9,800 8,000 1,800

Osta z 1,800 0 1,800
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N & 0l & Av S Z M A
201789 = =3 2 3] LESH LA ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Xl AHH 359,977 337,977 22,000
KA EHXX WERID *= 306,513 284,513 22,000
KAHH B MHIA 25 306,513 284,513 22,000
HEAMHIA 2229 115,893 95,893 20,000
401 Al HIZ 2018 46,000 26,000 20,000
01 A& HI 46,000 26,000 20,000
OHAIEA MXgJ| Hotd & =8 FUISAM 10,000 0 10,000
OXAMAARA 2 ZEHIA 10,000 0 10,000
FOEY MdEHH A 36,620 34,620 2,000
101 1Al 18,100 16,100 2,000
04 JI1ZtHZ22 s+ 18,100 16,100 2,000
Ostt=Rlzel =g 3,000 1,000 2,000
THoH ol =0l==& o 2 124,000 124,000 0
401 AIEHI L 2 CHYI 113,000 113,000 0
01 A& HI 111,812 111,812 0
O3 =2 &l 0 9,892 A9,892
Ogd == FHl 9,892 0 9,892
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